FgArea: [0 ]
NC11 P3-10
2025-05-28 (Day 56)




Ab\o o?
l.’
@ — ﬂ
=@
3
=
-.’
———0
=8
(¢4 o e
|
mooooooo
2 8 & 8 R 8§ &

50

40

30

20

10



VN

1

——
[

1400 -
1200 -
1000 -
800 -

600 -

400 -

200 -

04

50

40

30

20

10



1 0IR

——
T
0

0 -
0.8

1.



1750 ~

1500

1250

1000

750 -

500 -

250 -

s

1 VI vs Du

of

/

T
500

T
1000

T
1500

T
2000
DU

T
2500

T
3000

T
3500

T
4000




FR

0. 60 -
0.55 -
0.50 -
0.45 -
0. 40 -
0.35 -
0. 30 -
0. 25 -

50

T
40

30

T
20

T
10




50

40

1 setVI
T
10

——
[ ]

T

0

180
160 -
140 -
120 -
100 -
80 -
60 -
40 -



5000

4000

3000

2000

1 (fgArea = NA)

—0— ECI*10%

—0— ECO

10

20

30

40

50




—&— PHI*10%

7.5 4 —.—7 PHO

7.0
6.5
6.0

5.9

50

40

30

20

10
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-10
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m=875,m FV0=0 m=920,m FV0=0
427 —— MW B e MW
42 1
41
41
40 - 40 4
39 1
39
38 -
875 880 885 920 925 930
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P3-10

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

07:15 288 150.0 S| {Ri&e07:15 Bal (REAEESE)
08:10 288 150.0 BE| {Ri&e08:10 Bzl (REAEHEE)
09:25 288 150.0 BE| 1Ri%e09:25 B3 (RF{EREE)
10:20 288 150.0 | =| 1Ri&e10:20 Bz (KRBEEE)
11:10 288 150.0 el Rige11:10 Bz (REAERSE)
12:00 288 150.0 BE| BRi%e12:00 Bz (GREERESE)
12:50 288 150.0 Bl Rige12:50 Bal (REAEESE)
13:40 288 150.0 S| 1Rige13:40 Bzh (REERSE)
14:30 288 150.0 RS 1BRi&014:30 B3h (REERER)
15:35 288 150.0 RS Ri%e15:35 B (REERRSR)
=23t+]2880.0 (10)%) 1500. 0 3233 KEC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (187.0 :

ZRIAEBRIERE147.0 ml.

HEEHECE (2370.0 vs 4007.0) 5

147.0), AlEEHT—R % XA HS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

)
40
|

150 A

1

2

1

1

1.

100 A

1.
0.8
0.6
0.4+
0.2~
0.0
1500 4

1000

500 -

P3-10_0, Day=54 (2025-05-26)

00 A

50

(¢
00 A
50 A
00 A

50 A

VI, V&*8RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1900 2057

1700 617

414
217

Warning: lcol [FVI',| "FVO’'] missing

:

- 2000

- 1000

0
4 30

- 22

0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

1
Bylnit|@D56 01:53: ET=1537 Fg=1950.0 Ro=410.0

p——

—

L 4
PS

- 2000

- 1000

0049 1

a
3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

I
I ™

g g
B B B B B B B B B B B B B B B B

ByEt @54 19:07: ET=1353 Fg=1584.0 Ro=nan

oo+ 323
111

|
i
1
1
——0—0—0—0——0— S

— SN S S e ——"

- 2000

- 1000

300 4_0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

BB | fB5 | B | BF | H5 | B | BE | R | ME | BE |- [ BF |5 | fs [BF | fF | M8 | BR |B=[XM| A | 2= (%5 Hs

]
ByWon:@D56 01:53: ET=1217 Fg=1500.0 Ro=287.0

/‘//gl,.gi/// —$—8—8—19

0

- 2000

- 1000

404 @ RH_obs

—_—
[ ] | _obs
—@— PPFD obs

RH

[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=445, FV0=0 m=495, FV0=0 m=540, FV0=0

ME 25.0 o M_E - M_E 28. 50 - - M_E
26. 75 1
28. 25 A
24.5 A 26. 50 -
28. 00 A
26. 25 -
24. 0 A 27.75 A
26. 00 -
27. 50 A
25.75 -
23.5 A
25. 50 27.25 1
T T T T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550
m=595,m FV0=0 m=650,m FV0=0 m=705,m FV0=0 m=745,m FV0=0
—@— ME —@— ME 29 0 —&— ME —-@— ME
29.0 A
29.0 A
28.5 1
28.5 A
28. 5 A
28. 0
28. 0 A
28.0 A
27.5 A
T T T T T T T T T T T
600 605 650 655 660 705 710 715 745 750 755
m=785,m FV0=0 m=830,m FV0=0 m=880,m FV0=0 m=950,m FV0=0
—@— ME —-@— ME 29 0 —-@— ME 28. 50 - —&— ME
29 0 - 28. 25 A
28.5 28. 00 -
28.5 A 27.75 A
28.0 27.50 -
28.0 A 27.25
27.5 A
790 795 830 835 840 880 885 890 950 955 960
m m=445,m FV0=0 m=495,m FV0=0 m=540,m FV0=0
42 -
39 ® M_W -@— MW -— MW
42 1
38 - 41
37 a 40 i 41 .
36
39 - 40
35 A
—— MW 38 39 -
T T T 34 - T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550



m=595, FV0=0

42

41 -

40 A

39 -

—0—

M_W

42

595

T T
600 605

m=785,m FV0=0

41 -

40 A

39 -

38

—0—

M_W

785

790 795

m=650, FV0=0

42

41

40 -

39 -

38 A

—— MW

T
650

Gé5 GéO
m=830,n FV0=0

41

40 -

39 A

38 A

—— MW

T
830

T
835 840

m=705, FV0=0

41 -

40 -

39 A

38

37 A

—0—

M_W

T
705

T T
710 715

m=880,m FV0=0

41 -

40 -

39

38

——

M_W

T
880

885 890

m=745, FV0=0

41

40 -

39 A

38 -

—0—

M_w

T
745

7é0 7%5
m=950,n FV0=0

43

42 -

41 -

40 -

39 -

—0—

MW

T
950

T
955 960
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P3-10

BfiE) | BRI (7)) | EME (EH/HK) | XS EFF

07:15 294 150.0 RS {Ri&e07:15 Bz (REERE)
08:00 294 150.0 A5 {Ri%@08:00 Bz (RFEHEEZE)
09:10 294 150.0 B 1Rige09:10 Bzh (REEESER)
10:00 294 150.0 RS 1Ri&e10:00 Bz (REERS)
10:45 294 150.0 RS Ri%e10:45 B3 (REERESR)
11:25 294 150.0 BE| Rige11:25 Ba (REAERSE)
12:05 294 150.0 S| Rige12:05 Bz (REAEHE)
12:50 294 150.0 S| Ri%e12:50 Bz (REAERSR)
13:30 294 150.0 B 1Rige13:30 B3h (REAEESER)
14:15 294 150.0 BE| Rige14:15 Bz (REAERE)
15:00 294 150.0 B Rige15:00 Bz (REAERSE)
15:50 294 150.0 RS {Ri&e15:50 Bzl (REERE)
17:00 294 150. 0 S| Ri%@17:00 Bz (REEESE)
249t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

MEREHERE STMAEARS (191.0 : 150.0), AEEHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FHERECE (2323.0 vs 3630.0) R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=53 (2025-05-25)

T e g g e S B S g g

100 A

50

200 -

150 A

100 A

50 A

VI, V&RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET

1800
420

Warning: lcol [FVI',| "FVO’'] missing

40

1.0

Warning: lcol ["WC1',  "WC2'] missing

— M_E

950
521

- 2000

- 1000

0
4 30

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 -

1
Bylnit:@D56 01:537 ET=1563 Fg=1950.0 Ro=415.0

0 2 3 4 5 6 7 8 9

11

13

- 2000

- 1000

18

19

20

21

22

23

300

BB | BB | B | B | B |KE|F[#F

ES
5]

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

200 -

100 -

ByEt @D53 16:35: ET=1541 Fg=1800.0 Ro=nan

3 4 5 6 7 8 9

10

- 2000

- 1000

18

19

23

300

BB | B B | | B[R |B[K]|KE

[

—_
T o) f= == ==

E3
B

ES
5]

ES
5]

200 -

100 -

]
ByWoFv 1@D56 01:53: ET=1521 Fg=1950. 0 Ro=404.0

1.0

11

12

- 2000

- 1000

18

19

20

21

22

23

0.8

]
I ™

ES
5]

=
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

0.0
1500 A

1000

500 -

| _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=450, FV0=0 m=495, FV0=0 m=5395, FV0=0

29 .07 o ME —o— ME 085 —o— ME
26. 75 - :
28
24.5 - 26. 50 -
27 1 28.0 4
2 . 26. 25 -
24.07 26. 00
25 A ' 27.5
i 25. 75 -
24 23.5 -
23 - ME 25.50 - 27.0 -
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 555 560 565
m=610,m FV0=0 m=655,m FV0=0 m=700,m FV0=0 m=740,m FV0=0
—@— ME 29.0 - —-@— ME 29 0 - —@— ME 29.0 - —&— ME
28.5 -
28.5 28.5 - 28.5
28.0 -
28.0 - 280 28.0 -
5
27.5 - 27.5 -
27.5 -
T T T T T T T T T T T T
610 615 620 655 660 665 700 705 710 740 745 750
m=780,m FV0=0 m=815,m FV0=0 m=860,m FV0=0 m=905,m FV0=0
29. 00 28. 75 -
0 - MWNE : - ME - ME - ME
28. 75 - 28.50 7 28.5 -
28. 25 -
28. 5 28. 50 -
28. 00 - i
28. 25 1 28.0
27.75 -
27.50 - 27.5 -
27.75 -
5 27. 25 -
780 785 790 815 820 825 860 865 870 905 910 915
m=950,m FV0=0 m=1010m FVO0=0 m m=450,m FV0=0
42 - 40 1
- ME | 28.25- - ME —— MW
28.5 - |
28. 00 - 39
40 -
27.75 - 38 1
28.0 -
27.50 | 38 37 1
27. 25 - 36
5 36 4
27.00 - 35
- MW
T T T 26 75 B T T T 34 L T T T T T T
950 955 960 1010 1015 1020 600 800 1000 450 455 460



m=495, FV0=0

42 —— MW
41
40 A
39 -
38 L T T T
495 500 505
m=700,m FV0=0
—— MW
41
40
39 -
38 -
T T T
700 705 710
m=860,m FV0=0
—— MW
41
40 A
39 -
38 -
860 865 870

m=555, FVO0=0
42 4
—o— MW
41 -
40 -
39 4
38 -
T T T
555 560 565
m=740,m FV0=0
—o— MW
41
40 -
39 4
38 4
T T T
740 745 750
m=905,m FV0=0
—o— MW
41
40 -
39 -
38 4
905 910 915

m=610, FV0=0
—— MW
41
40 ~
39 -
38 -
37 T T T
610 615 620
m=780,m FV0=0
42 -
—— MW
41 -
40 -
39 -
T T T
780 785 790
m=950,m FV0=0
—— MW
41 -
40 -
39 A
950 955 960

m=655, FV0=0
—— MW
41
40 -
39
38
T T T
655 660 665
m=815,m FV0=0
427 —— MW
41
40 -
39
T T T
815 820 825
m=1010m FVO0=0
—— MW
41
40 -
39 1
38 - T T T
1010 1015 1020
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P3-10

BriE) [ EBIETK (D) | EHE (EH/HK) | XK SRR

07:20 294 150.0 A5 {Ri%@07:20 Bz (REERER)
08:05 294 150.0 RS {Ri&e08:05 Bz (KAL)
09:10 294 150.0 RS {Ri&e09:10 B3h (REEREE)
10:05 294 150.0 RS Ri%@10:05 Bz (REERSR)
10:50 294 150.0 B 1Rige10:50 Bzh (REEESR)
11:35 294 150.0 S| 1Ri%e11:35 Bah (REEESE)
12:20 294 150.0 S| Ri%e12:20 Bz (REAERESR)
13:05 294 150.0 BE| Rige13:05 Bal (REAEHE)
13:55 294 150.0 BE| Rige13:55 BHal (REAEHE)
14:50 294 150.0 BE| 1Ri%e14:50 B (RF{EREE)
15:55 294 150.0 | {Ri&e15:55 Bzh (REERSE)
23t 3234.0 (11)%) 1650. 0 32 FE&KEC: 2080.0, PH: 5.6

MERRNER S 5STREAERSE (191.0 : 150.0), AJEEHRF—RZ XA45
2RI\ PRIERE150. 0 ml.
HERECE (2223.0 vs 3457.0) R 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-10_0, Day=52 (2025-05-24)

150 A

100 A

50

200 -

150 A

100 A

50 A

VI, VB 48RV, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292
1800 800
377

1700
221

80 00
Warning: lcol [FVI',| "FVO’'] missing

VI — M_E

T
N
o
o
o

- 1000

4 30. 0

-27.5

-25.0

-22.5

1.0

Warning: lcol ["WC1',  "WC2'] missing

20.0

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

0.0
300

200

100 A

]
Bylnit;@D56 01:53: ET=1353 Fg=1650.0 Ro=316.0

\ 4
o

@
—a P

- 2000

- 1000

p——
0

1 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300

200

100 A

{0 e —y 1S

$-————===--=
I ™

B B 5] B B 5] B B B 5] B B B 5]

]
ByEt @D52 19:07: ET=1405 Fg=1800.0 Ro=nan *——0—© *—o

1

- 2000

- 1000

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300 & | & | % | | | | | ® | ® | @ | m® | m® | m®|m® | m | m| %% (s | ®m|®E|®

200

100 A

]
ByWon:@D56 01:53: ET=1377 Fg=1650.0 Ro=311.0

1

-

- 2000

- 1000

0.8

0.6

0.4+

0.2~

p o
1'0_5—‘
0
[

0.0

1500 4 — |

[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

|
=

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=460, FV0=0 m=490, FV0=0 m=530, FV0=0

25. 75 -
- ME 01 001 —@— ME -o— ME 97 501 —®— MWE
28 7 95.50
23.75 27. 95 A
25. 25 -
26 - 23.50 ~ 27.00 -
i 25. 00 -
23.25 26. 75 -
- 23. 00 - 24.75 -
24 26. 50 -
22.75 - i
24.50 26. 25 -
22 T T T T T T T T T T T T
600 800 1000 460 465 470 490 495 500 550 555 560
m=605,m FV0=0 m=650,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
27.75 '
28. 00 - 28. 25 -
27.50 -
28.0 i
97 75 - 28. 00
27.25 -
27.50 - 21.75 1
27.00 27.5 -
97 25 - 27.50 -
26. 75 -
27 00 27.25 -
26. 50 - 27.0
T T T T T T T T T T T T
605 610 615 650 655 660 695 700 705 735 740 745
m=775,m FV0=0 m=820,m FV0=0 m=865,m FV0=0 m=920,m FV0=0
28. 25 -
—— M_E 28. 5 4 —— M_E 28. 5 - —— M_E —— M_E
285 28. 00 -
27.75 -
28.0 28.0
28.0 - 27.50
27.5 27.5 - 27.25 -
275 1 27.00 -
T T T 27 0 L T T T 27 0 i T T T 26 75 B T T T
775 780 785 820 825 830 865 870 875 920 925 930
m=1005m FVO0=0 m m=460,m FV0=0 m=490,m FV0=0
42 39
- ME —— MW —— MW
27.25 - .
40 41
27.00 -
37 1
26. 75 - 38 - 40 1
36 -
26. 50 -
36 35 - 39
26. 25 -
34 -
26,00 34 38
. + M_W 33 .
1005 1010 1015 600 800 1000 460 465 470 490 495 500



m=530, FV0=0

42 1

41 -

40 ~

39 A

38

37

—— MW

42

550

5%5 560
m=735,n FV0=0

41 -

40 A

39 -

38

—— MW

735

7&0 7&5
m=920,n FV0=0

41 -

40 -

39 -

38

—— MW

920

925 930

m=605, FV0=0
—— MW
41
40 -
39 -
38 -
37
T T T
605 610 615
m=775,m FV0=0
—— MW
41
40 -
39
38 -
T T T
775 780 785
m=1005n FVO=0
—— MW
40 -
39
38 -
37
1005 1010 1015

m=650, FV0=0
—o— MW
41
40 -
39
38
T T T
650 655 660
m=820,m FV0=0
—— MW
41
40 -
39
38
T T T
820 825 830

m=695, FV0=0
—— MW
41 -
40 -
39 -
38 -
T T T
695 700 705
m=865,m FV0=0
—— MW
41
40 -
39 -
38 -
T T T
865 870 875




